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B &ECaTyPuspEL LuaULPSS CaudaBb. ULRSE uBTUSDE
Quenfley LwerLEPHsNL
Instructions : (1) check the question paper for fairmess of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.
(2) USse Blue or Black ink to write and underline and pencil to draw

diagrams.

U@ - I/ PART - 1
@OlUY : (i) vy dianss@rés e wellsseayn 15x1=15
(1) Qaer@ssuu_Berer wrHpy sl ey ghysmLw daLawsd

CaipEs®sss GHULBLe i manyb Csiss e ppeyb:

Note : (1) Answer all the questions.

(ii) Choo <€ the most appropriate answer from the given four alternatives
1 _ '
and write the option code and the corresponding answer.
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(@) Hfa Sufleb (i) erimeils | LBlGOLD

le is !

The compound which links Glycolysis and Kreb cyc

(a) Acetyl CoA (b) Succinic acid

(c) Citric acid (d) Pyruvic acid

2. o5 ofs Heovjsaan @ubm RNA ?
(<) tRNA (<)) dsRNA (@) rRNA (rF) mRNA
The most stable RNA is :
(a) tRNA (b) dsRNA (c) rRNA (d) mRNA
3. urseflureas sréé PEGL @G :
(=1) swGenmeLLmg () urdlefGuirLre

() Geeung (/) &GN LMD

Virus infecting bacteria are called :

C
(a) Cyanophage (b) Bacteriophage

( C ] % g {d} MYCOPM hit p 5 -_llll'l by 'i US.Com
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() Cauignellser LY QadaseTire o8 : .. | EBYJU S

(<) weorGsmbadr, saflse oG

@‘1 SUSTTE SL L 6 lg. &l ﬁll'l..lt.l

sreaTLuB &emen. e ‘f 17 561

(7) @eosgoass Qoodar Spug Bl
cravantlsenaiia o drarer. ' b =

Pick out the correct statement from the folla

-

(a) Root hairs are multi-cellular,
(b)  Trichomes helps in dispersal of fruits |
(c) Dumb-bell shaped guard cells are seen ir

e 3
-~

(d) Stomata are seen more in the upper epidern epidermis.
LETHES SNETET EIS QTS RO b |
(1) evaCarmavieguid 2

(@) Semenyed
Pollen grains are fused together as a single mass ¢ :
(a) Gynostegium (b)

(c) Synandrous (d) Pollini

Qeasgoe POHu®sS Si@rHD STQT aDrrilU

(=) SUARE Sl (<) psadlen

Which plant hormones induces closure of & |

(a) Abscissic acid @ .
._I‘- 1 WL]& [/ T
.

| 6USZ )
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7.

10.

(@) Fungi (b)
(c) Mycoplasma (d)

Bar®b @uwCuwrrg saflow erg ?

() STO&WILD (<) urevugen
(@) opLigen () Qurlrélwub
The element which is not remobilized ?

(a) Calcium (b)  Phosphorous

(c) Nitrogen (d) Potassium

S TS

(1) @rammbd flevw esaib () @rerLmb flevew YCarmuid
(@) Qrammbd QuRoaf sfiser (7) @ram_mb Hever ypenf
Wood is :

(a) Secondary Xylem (b) Secondary Phloem
(¢) Secondary Medullary rays (d) Secondary Cortex

Qaudismug e B QerpQuuws

(=) sidlwd &ur (=) Wb s e eub
(8) Lrésev sCrm (FF) pruemred & e cuai
The binomial of Onion is :

(a) Allium cepa (b) Allium sativum

(c) Daucus carota (d) Raphanus sativus

AP Gmrﬂ'rmés@ S aﬁlﬁeﬁ]m&@_
() Yerens (<)) Lrdie M

(@) @wsCHET Jermenior (/F) emeuren

Is an exception to Cell Theory.

Bacteria

Virus
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14. &@ﬁ,&aﬁrummyw shlunen Gearenid (:g,r'r;i,t%@msqm, @YU
(1) g.e‘s&.rraﬁufﬂél Hmwrhpnd . 95]%{_@@1
(=) saflaer LPSHED - sCrmiigenmw(®
(@) @eanden wEheeT HPD - uFensWID
() @eeulien BpLTHOL - eeCGsmian

Pick out the correct pair.

(a) Change of Fruit colour in Tomato - Lutein

(b) Fruit ripening - Carotenoids
(c) Yellowing in Leaf - Chlorophyll
(d) Change in Leaf colour - Lycopene

15. GrrGurieufilen Calily Qur@mer :
(=) swWCanm. eouflwen ST&D (=) o-LiGemmiligwies Fr&
(@) unTTePDTEN S&LD () &y&LD

The storage product in Rhodophyceae is :
(a) Cyanophycean starch (b) Floridean starch

(c) Paramylon starch (d) Starch
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Answer any six questions. Question No. 24 is Compulsory. @RYne

sl sansefian Qurgl L ser rCHEID )7 agena erpEIS.

Write any two general characteristic features of Lichen,

DTG UL ST auTev@RHHHHSETDD LTS SIAIPRGEH Ta HEPESUILLS

STEOTLD TeoTent 7

Why Bryophytes are called Non-Vascular Cryptogams ?

Qe i(hH&sWey — GUENTILIMIGHHAYLD.

Define Phyllotaxy.

. : : . A
wayposSsTaflen LD USTHSI LTSRS GDISSa

Draw the diagram of stamen and label its parts.

grauy wafler GHHTE®S TWSS

L @ym QoL

Write the floral formula of Datura metel.
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. , , s gwadeeit
21. QemravCGuor@LevCor L erenpre erene

What is Plasmodesmata ?

22. Qsa sPHf — uTLDISESLD.

Define cell cycle.

23. epLygen fasw - QUTILMISSELD.

Define Denitrification.

24. fysafiCurens® LHHD ;ﬂg&aﬂ[ﬁmrrml_@ CaunubsHis.

Write the differences between Nucleoside and Nucleotide.

L@ - III / PART - III

Pl : amalugb Hn SlaTéEsErsEE ol @b e wellsseab. ellemm 6T T
6x3=

33 -5 sLLmuwns e wafl&Esa)b.

Note : Answer any six questions. Question No. 33 is Compulsory.

25. aestur_igwed whnn Guwluflammo eaestiuriigued — Caunu®Hsss.

Differentiate Taxonomy and Systematics.

26. prrelluCunédlen cuenssen wWrena ?

What are the different types of Transpiration ?

27. ol smedlen uaflgeer UL igwel®Hs.

List the functions of Nucleus.
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Give an account of Gy, Phase.

* SiemweilLsflen g iuenula A E5GSSlacllen cuamssamer LD UG UTSLD

GIUEETN

Draf:-i and label a diagram to show the different types of meristem based on their
PoOsition 1n the plant body.

Ueup Ceurser erenmmed eremmasm ? T(HBHSETL(H H(HsE.

What is Coralloid root ? Give an example.

yeur s GleglgienLw, ussmbys Cefleonn @mume e W(pendIlTar BbShia I,
saflss yaellaul L, safiss mealla Lib, Guawl LE gosteu QararL weflean

LT HSSTESSlenan eT(PSIs.

Find out the floral formula for a bisexual flower with bract, regular, pentamerous,
distinct calyx and corolla, superior ovary without bracteole.

L} ehens Cauflzeflen upsdluggieumsar reveuGugb ependlenend GO @E.

Write any 3 importance of Mycorrhizae.

Ariev sné QrLeL flapad geneno e gar smpssliLBapS ?
?

Why Krebs cycle 1s called as ‘amphibolic pathway’
[ Hmiys / Turn over
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. FHaLD.
@O : SjeneuiHSl 6SlanmdsEhsEL0 oo wef|HH
Note :  Answer all questions. (
o GT(pSHIS l':

560
34. (=) STHMSEEEDLHGWD e THEL6nL-&ELD @GenL G

960608
(=) Oprsafien Lemugsemer Uiig el (B,

wood.
(a) Write the differences between Sap wood and Heart

OR

(b) List out the properties of Enzymes.

35. (=) QuanGLmen c.uravGLL auflssL sl p&E LSHILHNSE CuNEICES
2|60V

() BTCODDEMS edleTéEGD LITWSLD sreursélen Cargeanenwl 6llend@s.

(a) Mention the significance of Pentose Phosphate Pathway.
OR

(b) Explain with an experiment to prove Ascent of Sap with Balsam plant.

36. (=) sd geaflurdouflsramd wHPID Fpar geaflursufsremd Ceumu
9|60605)
() 26nflsabien aumpsamss sbHélew euemns,

(a) Differentiate  Cyclic ~ Photophosphorylation
Photophosphorylation.

on hitps:{byjus.com

2 1ifs murnle af Acariclia
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ar, '
(<) L auemswTer RNA -eflén Di@moliy LHDID uefsmer efleTdE®HS EBeYJU'S

G !

B 6060 &
(<) s CL_revaefien aumpelluieh efleneraysenar erpgs.

(&)  Explain the structure and functions of different types of RNA.
OR
(b)  Write the Physiological effects of Cytokinin.,

38, (<) &0 [b L. T §13 61 _ﬂmm;ﬁ]gﬁﬁgﬁd} WELGEE@GR‘M\) gp"ﬁ@ﬁ; L &l ep e
efleuf&seyLb,

S0V G)

(&) flever’ GLmflwr GLiCanefwrellen wai LaTUsmar card@s.

(a) Write the role of nitrogenase enzyme in nitrogen fixation.
OR

(b) Give the floral characters of clitoria ternatea.
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